4 4

REWRITING DIVISION
52+2= 2@-2@-22-2?
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IF YOU HAVE A PROBLEM LIKE THIS YOU CAN
REWRITE IT. SO IT LOOKS LIKE A LONG DIVISION
PROBLEM. THEN WE CAN SOLVE IT LIKE BEFORE

PRACTICE:

1. 63+3= 3[63 =21 2.24-
3.35+7= 735 = 5 4. 17+
5.52+4= 4[52 =13 6. 16+
7. 42+3= 3|42 =14 8. 45+
9. 64:8= 8|64 = 8 10.27:

11. 50+5 5|50 = 10 12.1 6 =+
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13.63+9= 9(63 14. 2 2 +

15. 23+ 4 = 4|23 = 5R3 16.8 4+

17.58+3 = 3|58 =19R1 18. 3 8 +

= 2

=9

8=8[24 =_3
1= 1[17 =17
= 2|16 = _8
= 9fas =_5
5= 5|27 = SR2
3= 3|22 = 7R1
2= 2|84 = 42
2= 238 =19
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